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MATLAB Command Window

>> x=[1:1:80];
>> xbar=mean (x)
xbar =
\ i Pt
40.5000 = %
C - [ 4

>> C=[ones(1,80)' (x-xbar)’'];
>> size(C) |\ B §

ans =

80 2

>> y=14+2*x+5%randn(1,80); 4~ E{ € N (0, lg)

>> size(y)
ans =
1 80
>> b=C\y’ — T(NDS

b:

2
/(7‘3 Foi Y= oi“i*(gb‘(‘";‘\-ﬁé\‘

A =
81.9058 = WQW*UQ): A 7Y

2.0178

>> mean (y)-b(2) *xbar

ol %
0.1865 G = %" (o
A— S

>> CD=[ones (1,80)’ x'];

>> b=CD\y’
b =
0.1865
2.0178

oz & -

>> plot(x,y,’*’,X,mean(y)+b(2)*(x—xbar)) —A
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To R
&

>> x=[1:80];

>> xbar=mean (x)

xbar =

40.5000

>> y=1+2*x+5*randn (1, 80) ;

>> C=[ones(1,80)’, (x-xbar)’ ];

>> b=C\y’;

>> b :

B = TMO TR Fonr
81.6332 S Piniie DOSOT ST vy
1.9606

>> X=[y’ ones(1,80)' (x-xbar)’'];

>> betasample=betastovel (X,1000) ; &— | Lob o BooTtwy (A MpLed
>> std(betasample) G b ,

ans =

>> 5/sqrt(sum(x.”(2))-80*xbar” (2)) — (; Qf r\ja GQ
ans = L , .Zj (3(: ‘—Jﬁ}

0.0242 G—

>> mean (betasample)

ans =

1.9600

>> hist (betasample, 50)

>>
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>> type betastovel
| —1 Cpinveue E&,bﬂrn‘(gp

function betasample=betastovel (X,m)

betasample=[];

for i=1:m

bssa=stovelstrpair (X) ;

ysa=bssa(:,1);

onesa=bssal(:,2);

xsa=bssa(:,3): \

C=[onesa xsal;

beta=C\ysa;

betasample=[betasample beta(2)];

end
>> type stovelstrpair

function bssample =stovelstrpéiﬂéﬁ&'y#ﬁ w@,5ﬁ

[n pl=size(X);
z=unidrnd(n,1,n);
bssample =X(z,:);

>>
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>> C=[ones(1,80)", x' 1;
>> b=C\y’';

>> b(l)
N pew

ans =

1.0738

1.0738 :
2.0013 Oﬁg;\bdr“ﬁ’

>> res=y-(b(1)+b(2)*x); e///

>> betasamp1e=betaresstovel(b(lh‘

&l%?\&O\JAQ)

>> type betaresstovel

function betasample=betaresét§ge

betasample=[]; '
C=[ones (1, length(x))’, x" 1i
for i=1:m

bsres=stovelstropp (res) ;

y= a + Db*xtbsres;

beta=C\y"’;

betasamplez[betasample beta(Z)]fﬁ

end
>> std(betasample)
ans =

0.0217
>> hist (betasample, 50)

>>
=
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